Monthly averaged wind velocity by MF radar at Tromsoe for February 2015
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Monthly averaged wind velocity by MF radar at Tromsoe for February 2015

North East

mean sigma = 18.020 mean sigma = 17.660

I
[S =}
[=2R=}
T

o

ffffffffffffffffffffffffffffffffff 82km

Ll
&
S

o
o

© T
IN

®

~

>

o

© prrrrprr
IN

®

~

>

20

20

o

mean sigma = 18.031 mean sigma = 15.403

vl
[S =}
[=2R=}

o

79km

I N
o &
S o

© [T
I

©

N

>

o

o T
S

©

N

>

20 20

o

mean sigma = 16.599 mean sigma = 12.668

ol
a 9
[=BK=]

o
o

"""""""""""""""""""" 76km

I N
o &
ISIR=]

o HH‘HH‘
N

o]

N

>

o

© [T
£y

o]

N

>

20 20

o

mean sigma = 14.816 mean sigma = 11.560

Lol
[ =Y
[=2R=}
ARRARE

o
o

73km

I N
o &
ISIR=)

© [T T
N

o]

N

3

o

o T
E S

o]

N

>

20 20

o

mean sigma = 12.604 mean sigma = 9.938

T
[}
[=2R=}

L

j
%

N

o

70km

I N
o &
ISHR=)

© T
IS
®
~
>
(=)
© T
IS
®
~
>

20 20

o

mean sigma = 14.021

v bin
[S =}
[=BR=}

o

o

o
© [rrrpr T

3 67Kkm

I N
o &
ISH=)

© e
E g

®

0

16 20 20

o

mean sigma = 12.549

o
o

o

%0
3 S w4 64km
- E 50F E
E E -100F ]
0 4 8 12 16 20 0 0 4 8 12 16 20 0



